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Close Test Questions Bank Exams (IBPSPO & SBIPO)
Close Test Quiz 20
Directions: In the following passage, some of the words have been left out, each of which is indicated by a number. Find the suitable word from the option given against each number and fill up the blanks with appropriate words to make the paragraph meaningful.
Prime Minister Narendra Modi has announced the start of three schemes - two insurance products and one pension scheme - for poor and unorganized workers. These might (1) __ ongoing schemes (2) __ by the previous UPA government, but there is no (3) __ the present administration’s (4) __ to give them scale, commitment and visibility the scheme needed. Insurance (5) __ resources to meet (6) __expenses. Given that nearly two-third of Indians are below 35 years of age, the (7) __ of death in the entire population is small and premium amount can be kept low to (8) __ the resources needed to meet insurance payouts. When coverage is (9) __ to include the entire population the odds work in (10) __ of lowering costs.






Questions:
1. Answer as per the direction given above:
A. parcel      B. repackage      C. wreckage      D. repair      E. announce
2. Answer as per the direction given above:
A. received      B. originated      C. discovered      D. introduced      E. founded
3. Answer as per the direction given above:
A. denying      B. exclusion      C. believe      D. agreement      E. credit
4. Answer as per the direction given above:
A. strength      B. capacity      C. ability      D. competency      E. aptitude
5. Answer as per the direction given above:
A. collect      B. issues      C. apportion      D. pools      E. dispense
6. Answer as per the direction given above:
A. accident      B. dependent      C. defined      D. truthful      E. contingent
7. Answer as per the direction given above:
A. contingency      B. probability      C. odds      D. reality      E. promise
8. Answer as per the direction given above:
A. mobilise      B. assemble      C. organises      D. dissuade      E. separate
9. Answer as per the direction given above:
A. bolstered      B. grown      C. expanded      D. amplified      E. dilated
10. Answer as per the direction given above:
A. respected     B. regard      C. view      D. case      E. favour

Correct Answers:
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	B
	D
	A
	C
	D
	E
	A
	A
	E
	B



Explanations:
1.
The use of the verbs 'parcel' or 'repair' is irrelevant in the context.
'Wreckage' is a noun and can't be placed here.
Out of 'repackage' and 'announce' the verb 'repackage' will go well in the given context.
Repackage (verb) : If something is repackaged in a particular way, it is presented or advertised in that way in order to make it seem more attractive or more interesting.
2.
The use of past participle 'received' is not satisfying the 'Subject-Verb Agreement'.
It is an idea or story that's 'originated'. 
It is an invetion that's 'discovered'. 
It is an institution, company or organization that's 'founded'.  
Schemes are generally 'introduced'. Hence the use past participle 'introduced' makes sense here
3.
"There is no denying" is a common phrase used in English language with a view to showing that you do not deny something or you take something to be true. 
Ex. There's no denying that this has been a difficult year for the company.
'Denying' hence is the most appropriate word in the context.

4.
'Strength' would be the most inappropriate word in the context and therefore we can immediately eliminate it.
We in general use 'aptitude' in relation to learning or intelligence and hence it goes out of the context.
'Capacity' in general sense is used while referring to the ability of retention or production. Hence it would not the best pick.
Out of 'ability' and 'competency' the more suitable choice in the context would be 'ability' as 'competence' is derived from the word 'competition' while 'ability' which means possession of the skill to do something goes well with the context.
5.
The words 'collect', 'apportion' and 'dispense' will immediately be eliminated as their use does not satisfy the 'Subject-Verb Agreement'. (The subject 'Insurance' is singular and it needs a singular verb in the predicate part.)
[bookmark: _GoBack]Out of 'pools' and 'issues' the word 'pools' proves to be a valid choice here as 'Insurance' is based on the principle of risk-pooling. It pools resources and does not issue them.
6.
The word 'accident' can immediately eliminated here as the given blank is followed by a noun 'expenses' and hence should be followed by an adjective.
Now out of the remaining options 'contingent' which means 'uncertain’ or ‘unexpected' would be the most suitable choice in the context of insurance.
7.
Out of the given options the words 'contingency' and 'probability' both can go well with the context but to avoid redundancy the use of 'probability' fits in well
8.
The options 'dissuade' and 'separate' can immediately be eliminated as both the words are going out of the context. 
The use of word 'organises' can also be eliminated as an infinitive (to + verb) never adds an 's' to it.
Out of the remaining options 'assemble' would not be an appropriate choice as the word 'assemble' which means to gather people or to collect parts (of a machine) together does not fit in well. 
Hence, we can choose 'mobilise' which means to start to use resources or make them available for use, as a valid answer.
9.
If someone tries to 'bolster' their position in a situation, they try to strengthen it. Hence, it will be eliminated.
When a business 'grows', it increases in wealth, size, or importance and therefore, it's use would not fit in well.
To 'amplify' something means to increase its strength or intensity and the use of which will go absolutely out of the context.
To 'dilate' means to become wider or bigger (such as pupils of eyes or blood vessels) and therefore, it will immediately be eliminated.
If something such as a business, organization, or service 'expands', or if you expand it, it becomes bigger and includes more people, goods, or activities. Hence, 'expanded' will be the most appropriate choice here.
10.
The use of phrase ‘In respect of’ (or ‘with respect to’) which means ‘with reference to’ or ‘concerning’ goes out of the context here.
Ex. The two groups were similar with respect to age, sex, and diagnoses.
The second option ‘regard’ will immediately be eliminated as the correct phrase is ‘in/with regard to’ and not ‘in/with respect of’.
The use of phrase ‘in view of’ which means ‘because’ or ‘as a result’ doesn’t fit in well as it’s not making sense in the context.
The use of phrase ‘In case of’ would absolutely irrelevant here as we use in case of + noun to mean ‘if and when something happens and it’s use isn't complementing the sentence.
The use of ‘in favour of’ which means ‘to the benefit of’ goes well with the context. It’s use suggests that the decision of lowering costs will prove to be right or advantageous when the coverage of insurance is expanded. Hence, ‘favour’ will be the most apprpriate choice here.
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